FERRUVBEH DR EOBE R (FMR30F4A1BHIRAE)

ITEEEAG R RAR A BRI R

) &5t A R B 7% £ D B
B Dk LT DTS
(N)| (%) B & (N) | (N) (%) | (EXPB&)
1 FEOHHE = 58
1R |2 HEADRETS 58|  14.2|4%Em 0
it 58
63
2k | EEOBTE 63 wAIE -
| 63 276 67.5 REK
* 96
3k |[EEDOBTH 96| 235 = -
it 96
BlE 59
M |BIEH OB 50| 1aal -
i 59
1 BRROBH% ®RE 77
2 Eg 7
5%k ETROBH 86 21.0I§$ 86| 210 |ZEK
3 HE#BEDRDETS HEKEDE 2
it 86
1 SHEEEORE SEEESE 1
2 IEBE DTS fRiEEs 0
3 i 5 H 27
6%k AROBE 37 91%E 37 9.1 BEMK
4 EROBHE =R 0
5 RELEREETS HE#BOR 9
HSE R D R DT B 37
1 HMEOBHS HE 9
|12 BEEEREOBIK 10 24| BREHBRE 1 10 24| ERHR
& 10
& &t 409/ 100

X BEABRRELTLDEAEIANEEFGL,




- REBOHRBEERBR

T T &t NE B 75 £ 0D ER s
(N)| (%) 2 (N (A | (%) | (EXBE)
1%k [EFEENDBS 0| 00 [#FEEm 0
1 {RIBED DR R (2R 5
2%k |2 BEAMMOBE 5 238 [FHiEAm 0
5
1 T EREBENDBE T E R IR 10 _
18| 857 {RE#K
3R |2 FEFBEMMDOBE 10| 476 [E{EEEEM 0
10
1 BlRBETR DB BlREM R (RE) 3
4k |2 BIEHEAROBE 3 143 [RIBEME 0
3
1 {RIBERR OB REEE &R GRE) 3
5% |2 BEAMROBIS 3 143 |B#EME 0 3 143 BREMK
3
a8 F 21/ 100.0
RAeFm HRERHRBHE ORI ER
—— —— &t N 75 £ oD R RS
(N)]| (%) B4 (N (A | (%) | (ExBE)
1# | BEER U F 5 8 DB 0| 00 |5 0
oy (RACRERERBELRETIR | 5 aa0 |maesnm 3 o 100 | R
MR |[MEBRERUH BB E ORTS 6| 66.7 [FRAEF TS 6
4 |BEOHERERVFHFHEOBAE | 0 00 |[HKEEFHEE 0
a8 &t 9| 100.0




